CHENNAI

ORIENTATION PROGRAM

SYLLABUS

Combined Civil Services Examination II - Revised
Syllabus
(Interview Posts and Non-Interview Posts)

UNIT-X: APTITUDE AND MENTAL ABILITY

Simplification
Percentage
Highest Common Factor (HCF)
iv. Lowest Common Multiple (LCM).
v. Ratio and Proportion.
vi. Simple interest
vii. Compound interest
viii. Area
ix. Volume
x.  Time and Work.
xi. Logical Reasoning
xii. Puzzles
xiii. Dice
xiv. Visual Reasoning
xv. Alpha numeric Reasoning
xvi. Number Series.
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ORDER FOR MENTAL ABILITY TOPIC

Speed Maths
Simplification
. Number Series & Number System
iv. AP&G.P
v. DPercentage
vi. Profit & Loss
vii. Simple interest
viii. Compound interest
ix. Ratio and Proportion.
x. Average
xi. Ages
xii. Data Interpretation
xiii. L.C.M & H.C.F
xiv. D.P & L.P - Time & Work - Pipes cistern
xv. Time & Distance, Problems on Trains, Boats
xvi. Mensuration - Formulae
xvii. Mensuration - 2D
xviii. Mensuration - 3D
xix. Permutation & Combination Basic, Alligation & Mixture
xx. Statistics & Probability
xxi. Logarithm, Visual Reasoning
xxii. Geometry, & Co-ordinate Geometry
xxiii. Basic Algebra, & Trigonometry
xxiv. Mathematical Operations, Puzzles, Clocks, calendar
xxv. Logical Reasoning (Coding & Decoding, Directions,
Ranking, Alpha Numberic series, Blood Relation)
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Chapter Wise Analysis (Previous year Paper)

TNPSC EXAMS

APPSO 2o eans o

STUDY CENTRE EXCELLENCE

UNIT 10:
APTITUDE & MENTAL ABILITY - CHAPTER WISE ANALYSIS

No. OF QUESTIONS IN EACH CHAPTER

VETERINARY ARCHAEOLOGICAL MODEL QP BY

Sl. No.| SYLLABUS ASST. SURGEON OFFICE TNPSC
DOE - 23-02-2020 DOE - 29-02-2020

NOTE:

1. Arithmetic Progression, Geometric Progression, Averages, Miscellaneous chapters are included.
2. Logical Reasoning, Visual Reasoning, Alpha Numeric Reasoning are included.

3. Some questions which are placed under “Simplification”, can also comes under “Number Series”.
4. In Archeological Officer Exam, There were 26 questions.
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BOOK SOURCE SPLIT UP

STD

NEW OLD

TERM

Exercise

Simplification

6th

New book

Term 1

1.3

7th

Old book

Term 1

1.1to1.8

7th

New book

Term 1

1.1to1.6

8th

Old book

Term 1

11,1.2,1.3

8th

New book

Term 1

11,12

9th

Old book

2.2

9th

New book

Term 2

3.2

10th

Old book

3.11

10th

New book

3.4,3.5,3.6

Surds & Indices

8th

Old book

1.4

9th

Old book

2.5,2.6

9th

New book

21to24

L.CM. / HCF

6th

Old book

2.5,2.6

oth

New book

12,13

9th

New book

3.9

10th

Old book

3.6,3.7,3.8

10th

New book

3.2,3.3

Square & Cube

Root

8th

Old book

Term 1

1.5to1.7

Percentage

7th

Old book

Term 3

21,2.2,2.3

7th

New book

Term 3

21,22,23

8th

Old book

Term 3

1.1

8th

New book

Term 2

1.1

Profit & Loss

6th

New book

Term 2

3.1,3.2

7th

New book

Term 3

2.3

7th

Old book

Term 3

24

8th

New book

Term 2

1.1

8th

Old book

Term 3

1.1

Ratio / Proportion

6th

New book

Term 1

3.1t03.5

6th

Old book

Term 2

1.1to1.3

7th

Old book

Term 2

1.1

Simple Interest

7th

Old book

Term 3

2.5

7th

New book

Term 3

24,25

Compound Interest

8th

Old book

Term 3

14,15,1.6

8th

New book

Term 2

1.3
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Time &  Work

DP/IP

7th

Old book

7th

New book

41,42,43

8th

Old book

1.7,1.8

8th

New book

21,22

AP &GP

10th

Old book

21to2.7

10th

New book

2.4t02.10

6th

Old book

31to3.4

6th

New book

3.1,3.2

7th

Old book

2.1

7th

New book

21 to 24)
both

8th

Old book

21,22

8th

New book

21to24

9th

Old book

4.1

Volume

9th

Old book

42to4.4

10th

New book

71to7.5

10th

Old book

8.1t08.4

9th

New book

41to4.5

Algebra

10th

Old book

31,32,34,35
(3.12 - 3.19)

10th

New book

31, @7 to
3.14) 3.19

Geometry

6th

Old book

4.1

6th

New book

4.4
4.1

7th

New book

41,43

8th

Old book

2.2

8th

New book

3.1

9th

Old book

3.1,3.2

9th

New book

4.3

10th

Old book

6.3

10th

New book

4.4

16.

Trignometry

9th

Old book

21,22,23

9th

New book

3.1,3.2

10th

Old book

71,7.2

10th

New book

6.1to 6.5

17.

Logarithm

9

Old book

Term 3

21to 2.5

18.

Average

Oth

New book

Term 3

5.1

Oth

New book

Term 2

51
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Old book

Probability

New book

Exercise 5.1 to

5.3

Old book

Exercise 5.1 &

5.2

Old book

Exercise 12.1 -

12.3

New book

Exercise
8.4 & 85

8.3,

Statistics

Old book

Term III

6.1

New book

Term III

51to5.4

Old book

Term III

31to34

New book

Term III

41to4.3

Old book
New book

Term II
Term II

3.1to03.5
51to5.4

Old book
New book

111 to11.2
81.to 8.5
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Model Question Paper

If P denotes +, Q denotes -, R denotes x and S denotes +, which of the

following statement is correct

a. 36R458Q7P4=10 b. 16R12P4957Q9=200

c. 3258R9 = 160Q12R12 d. SR8P8S8Q8=57

P aemg +, Q eaemug -, R easiug x wBmid S eeiug, +, 660
SpSHHemILauBmBled 61gH FHwmeT Fammi?

a. 36R458Q7P4=10 b. 16R12P4957Q9=200

c. 3258R9 = 160Q12R12 d. 8R8P8S8Q8=57

A clock seen on a mirror shows quarter to three. What is the correct
time shown by the Clock?
a. 8 hours 15 minutes b. 9 hours 12 minutes

c. 8 hours 17 minutes d. 9 hours 15 minutes

Qb  H&HTID  SHewiewimguiled umTd@G Gurgk GBI 3  wewl o 15
BIOLBis6T o 6ilengl elaid STLBHMBH 61660 HHTIHHer Filwmer Gpyb?
a. 8 wewfl 15 MO M6l b. 9 wewil 12 PO Fisei

c. 8 wewfl 17 HIOL_misbe d. 9 wewfl 15 Wiol_Fiseir

If the volume of a cube is 1000 cu.cm, then find its surface area?

a. 100 Sg.cm b. 400 Sq.cm c. 500 Sq.cm d. 600 Sq.cm

RH SOFSHTHHOT ST Dena] 1000 &.605.10. eelled DiHeT LBUILTLIL N6
SHIT60185 !

a. 100 5.05.18 b. 400 #.05.15 c. 500 #.05.16 d. 600 #.0.15

A book contains 120 pages. Each page has 35 lines. How many pages
will the book contain if every page has 24 lines per page?

a. 170 Pages b. 180 Pages c. 175 Pages d. 185 Pages
el USBSHHID 35 auflsmend OETew  LUSHHHH  OLoTHSHl
LUSSEIS6T 120 elelled ealbleum(h USBSHHNID 24  eufldenTeds S (HHSHTeL
DILSHHBHPH T COTHSHLI LISIRIGBT 615HHMEITS B(HBEGHWD?

a. 170 ussmsen  b. 180 ussmiset c. 175 ussmiser d. 185 ussmiser

12 men can complete a work in 36 days. In how many days will 18 men
finish the same work?

a. 16 b. 24 c. 26 d. 54
12 o &6 g Gouemevemdwl 36 BT H6Me0 OFUIH (PddHampert. 6H
Gouemevemw! 18 oI 6T 61dHHeme HI6THeled CFUIH (WIQLILITTH6NT?

a. 16 b. 24 c. 26 d. 54
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The product of two numbers is 432 and their LCM and HCF are 72 and
6 respectively. If one of the numbers is 24, then find the other number?

a. 16 b. 18 c.22 d. 36

O eremidellel  OUHEBSMUGVET 432 OBBID  Dieweuseriler LO.4.0.  LOBBID
0.0um.eu. (BB 72 LBMID 6 HGD.  DeIGeIH6TL @ eTewr 24
oT6d60  LOBOBT(H  6T60T6N600TEH  SHT6w0IE 7

a. 16 b. 18 c.22 d. 36

Find the total amount if 15% of it is Rs. 30007

a. Rs.18,000 b. Rs. 20,000 c. Rs. 21,000 d. Rs. 25, 000
R OzTewsuie 15% eeugl @5.3000 eafled SIHOHTMHMWIS HTewISH?
a. 5.18,000 b. em. 20,000 c. ep. 21,000 d. em. 25, 000

In a class, 40% of students are boys. 60% of girls are rank holders. 40%
of students are rank holders. Find the number of boys with rank, if class
strength is 507?

a.?2 b.4 c.6 d.8

R UGIT0 40% Guit TewiaTdeT 60% TewalS6T HID  GLBBEITHET.
OTHE  wmewied, wraielwTdefled 40% Sy CUBBEITHGI. QUG LI 6ot
QrdHg  wrewied, LTeuTalWITHeel  elewienibend 50 e6lafled, HID GUBMB
LDITGUOTGUTE6YTIG0T  6TGU0T 60011 Eb6MH  6T60T160T

a.2 b.4 c.6 d.8

Arun drives 120 miles at 60 miles/hr and then drives the next 120 miles
at 40 miles/hr. What is his average speed for the entire trip?

a.42 b. 48 c.50 d. 54

SIHEWT  GIFTUT QI AUTHAIHMS 60 meH6iT/ 6wl 61 BGousdhded 120
MLD6LH6NT  @L BAMMT. LT 40 eweoH6lT/ el 61 CoudsHHed DIBHH
120 w606 @l BAMIT 6lafled GLOTHBHHHO Sleugd Fyrafl Geusld eredreo?
a.42 b. 48 c.50 d. 54

In a flower garden, there are 23 rose plants in the first row, 21 in the
second row, 19 in the third row and so on. There are 5 rose plants in
the last row. How many rows are there in the flower garden?

a. 12 rows b. 10 rows c. 11 rows d. 13 rows

b ubBaT LHH0 (wWaHev eauflwgulled 23 GCrrmnd OFigsmelT, EFewILmD
aflenguied 21 Grmyrd OFgHeir, cpemTd euflewgulsd 19 Gyrmnd GFigsel
gl e OFHTLT eufleng SiewWLILTeD 2 6lTerTe. smLdF  auflemguled 5
Grmegns Gsyser  @AmUlear SIIUBCHTU L SHHD  edHHemen  aufleng Helt
9 6iTeIT6or?

a. 12 afemsxer  b. 10 auflewaser  c. 11 auflengser  d. 13 seuflengseir

8| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find
the value of x?

a. 35 b. 36 c. 25 d. 26

18, 41, x, 36, 31, 24, 37, 35, 27, 36 Saumplest ggmgfl 31 elefled X @61 DAL
61601601 ?

a. 35 b. 36 c.25 d. 26

Which one of the following numbers is exactly divisible by 117?
a. 235641 b. 245642 c. 315624 d. 415624
SHHWIL elenibemed 11 o0 WHuleim euGuBLD 6Temr 61517

a. 235641 b. 245642 c. 315624 d. 415624

What is unit digit in the product 784 x 618 x 917 x 4637

a. 6 b.2 c.4 d. 8

784 x 618 x 917 x 463 a1 QLIIHHBH60H6MND QOBTUSHI BeVHHID 616816017
a.6 b.2 c.4 d. 8

Find the compound interest on Rs. 1,000 at the rate of 10% per annum
for 18 months when interest is compounded half-yearly?

a. Rs. 157.62 b. Rs. 157.63 c. Rs. 157.61 d. Rs. 157.60
SIMTWTNI(hSHG (H (B aully gL el  CFTesiulLTed h.1000-5G
WG el ly afsd 10% aisiiug, 18 IISEBEHHGS gl (B el lg STewialb?
a. a.157.62 b. e5.157.63 c. e;.157.61 d. 5.157.60

If the rate of Compound interest is 12% per year and compound interest
is calculated every 3 months, then what is the total amount after 9
months when the deposited amount is one lakh?

a. Rs. 1,09,000.00 b. Rs. 1,09,060.00

c. Rs. 1,09,060.30 d. Rs. 1,09,272.70

&LB ey eipb HmiGse 12% aaip eipdHed 3 WLIGSIBESG @B PoD
SMSHL UG  6lefled @(h 6ulgF puTul GCFaudslu’L et 9 Igb
&0HFH CTdHs OHTNS 6T6laIeTe]?

a. ep. 1,09,000.00 b. . 1,09,060.00

c. ap. 1,09,060.30 d. ep. 1,09,272.70

If A:B =4:6, B:C =18:5, Find the ratio of A:B:C?

a.12:18:5 b. 12:5:18 c18:12:5 d.5:18:12
A:B=4:6, B:C=18:5, aiafle0 A:B:Cuilest adpiHmmpsd SHremias?
a.12:18:5 b. 12:5:18 c.18:12:5 d. 5:18:12
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How many numbers are there between 200 and 400 which are exactly
divisible by 3, 5 and 6?

a.8 b.9 c.7 d.6

200-5@&10  400-H@D  BewL Buiujeiien Buled elemideiled 3,5 LBMID 6 SLPlul
(PSTIBI 6TenIBMmens OEmen(h BHUNe eu@GLBLD 61656 618 5H6m601

a.8 b.9 c.7 d.6

In a class of 80 students, 65% are boys. Find the number of girls?

a. 35 b. 28 c. 52 d. 38

80 GuT GamewiL eu@liuemmuied 65% GuiT  yeiTdeT elefled  CLIGTBH6IM 6
GTERT 6NN HMSB 618 FH6M60T?

a.35 b. 28 c. 52 d. 38

Choose the best alternative of white: Peace :: Red: ?

a. Roses b. Heart c. Violence d. Danger
Wss giwmer aimnd CHTHoSHbBHSHI CLMHHHIS:

Oeueitenem: Siewod : : Feuliy : ?

a. Gumegr b.8swib C. QUGHT(LPEMM d. eumuid

Rs.120 is divided among A, B and C such that A’s share is Rs.20 more
than B’s and Rs.20 less than C's. What is B’s share?

a. Rs. 10 b. Rs.15 c. Rs. 20 d. Rs. 25

A, B wpmib C eesip cpesipl BUTH6T 5120 — &3 udiphg OBmeendGung),
A-er umiEg B-ea1 umiemdall @520 ambBHeorsald, C-a1 UBnBIL  e5.20
GOBAUTHAID A HHSHTeO B-6i1 LUMIG eT6lalena]?

a. ep. 10 b. em.15 c. em. 20 d. em. 25

If the sum of two numbers is 24 and their product is 108, then find the
sum of their reciprocals?

a. 2/9 b.3/7 c.5/7 d.9/2

Om ousalar  FmBHO 24 LBBID  SeuBpler  CUmbHeL 108 erenled
SI610eaIH6MNeT HemevBHBaTar FnBHe0 SHTewIH?

a.2/9 b.3/7 c.5/7 d.9/2

Find the rate percent per annum when a principal of Rs. 5000/ - earns a
S.I of Rs. 1600 in 16 months?

a.20% b. 22% c. 18% d. 24%

5.5,000 SIFIHG 16 IHEG6T60 e5H.1,600 Hellau'ly SewLGHFHTe0, 6l lg
AP HHMHH HTewIs?

a.20% b. 22% c.18% d. 24%
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The population of a village has a constant growth of 4% every year. If
its present population is 32448. What was the population two years
ago?

a. 31424 b. 28868 c. 30000 d. 31242

R BITOSHGT WHH6T OpTend @8y FIms @elbeuT(h WG 4% dnlgdh
CaremiBL  OCFevdmgd. @UOUTIEH ISH6T WEHH6T CFHTend 32,448  slelev
Brenih MIBHBEHDHG (Pl LHHETOHTNS 6T6ieTeUTd B (HHA (HHEGLW?

a. 31424 b. 28868 c. 30000 d. 31242

The area of a quadrilateral is 525 sq.m. The perpendiculars from two
vertices to the diagonal are 15m and 20m. What is the length of this
diagonal?

a.25m b. 30m c. 35m d. 45m

QM BIBEISHr  ugliuene] 525 g5 oiper B o FHseledlmbal
epemevall L HHBEG UedTULILGBD OCFmGSHHer Henmidber 1515, 2015 erefled
eVl L SH&leit HemblLoesieot?

a.25 18 b.30 8 c.35 1 d. 45 15

A wire can form a square of area 36 sq.cm. what is the area of rectangle
when the same wire forms a rectangle in which one side is 2 cm?
a. 12cm? b.18 cm? c. 20 cm? d. 24 cm?

@ SLUWTEIZH FHIT aYaIHMmS 2 (HaUTdGWD LTSI DigeT ugliLeTe 36
g.05.5. 98 sbUmws OCaTeamih 2 OF.150. @b LSS DieTe] 2 _emL Ul b
CFelausHMmS 2 (HeUTHGWOUTH DIFOFaINSHH T LITLILIETE| 616560 !

a.12 5.65.16 b.18 #.05.6 c. 20 5.65.185 d. 24 5.05.6
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